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A/ READING COMPREHENSION: (8 pts) 
                                               

1)   a. False    b. True    c. True   d. True (2) 

2) Answers:  

a. The Amazon Forest is important to us because it is considered as the lungs of our planet that      

    provide 50% of the world’s annual oxygen.  (1) 

                                                                                           

b. Yes, it can. “Scientists say that the deforestation can generate changes in the climate. In many  

   countries there will be less or no rain…” (1) 

c. There will be serious effects on the world’s climate: (1.5) 

▪ The air we breathe will contain less oxygen and more carbon dioxide. 

▪ The temperatures will rise. 

▪ Life on earth will become difficult and may become impossible. 
 

3) Title to the text: The Deforestation of the Amazon Forest (0.5)   

4) It is mentioned in:  In paragraph (§2) (0.5)  

5)      a. It (§1): The Amazon Forest (0.5)    b. others (§2): countries (0.5)     c. it (§4): life on earth (0.5)          

 

B/ MASTERY OF LANGUAGE: (7pts)  
 

  1) a. cause (§2) = …generate (0.5)         b. supply (§3) = …provide… (0.5) 

  2) Give the adjective of the following words keeping the same root: (1.5)  

Word  Adjective  Word  Adjective  

poison 

nature 

aggress 

poisonous 

natural 

aggressive 

Harm 

Ecology 

science 

harmful / 

harmless  

ecologic 

/ecological 

scientific 
  

 3) Supply punctuation and capitalisation.  (1) 

      “Today more and more countries suffer from pollution”, said a scientist. 

4) Give the correct form of the verbs in brackets:                                                                            

b. When we heat ice, it melts. (0.75) 

c. What will happen if we don’t stop deforestation? (0.75)     

  5) Join the pairs of sentences using the right connectors:                                                                  

   1. Factories and vehicles pollute the air. As a result, many people suffer from dangerous diseases. (0.5) 

      2.  Some animals are disappearing because their habitat is being destroyed. (0.5) 

  6) Underline the stressed syllable in each word:(1) 

                                 deforestation – remain – ecological – carbon   
 

Part II: Written Expression:(5pts) 
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